Basic Level Examination 2079
Set-B

F.M.:100
Class :8 Subject: Mathematics Time: 3 hrs.

I yeeee ftard o | (Attempt all the questions)

e % -(Group-A) [10x 1 =10] E
1. a) feguat faar L CHF @1 saen @erer: In the given figure, write the e B
corresponding angle of ZCHF. c D

b) srgEama x cm wuEr Fadr aikfa M@« : Find the circumference of the circle
with radius x cm.
2. a) fa=se® P(a,0) ¥ Q(0,b) fa=r#r g& #fd &= ? What is the distance between the points P(a,0) and
Q(0,b)? N
b) O are P &1 feer feafq @@ : Write the bearing of P from O.
a0°

@]

B
3. a) feguar femmm grat aRaEr arTeTs 9 eadr aeterd - Write the set notation of the @

given figure.
b) 0.003627 «rg =nfve TgwaAT sreterd - Write 0.003627 in scientific notation.
4. a) feguar qargFe a oar @ms1erd (From the following given data calculate the mode.
3,4,4,5,6,4,3,5,6,4,5

b) afs 10*=1 g x &1 | *fad =3 7 If 10*=1 then what is the value of x?
5. a) @<t TR :Factorize: 3a2-6ab
b) z& e :Solve: 3x-12=0
¥9g @ (Group B) [17x2=34]
6. a) fegusr fear x T y ®1 79 M@ Find the value of x and y from the adjoining figure.

C

2x-60° 3y

D

b) frataa sg¥ster T Horer A9 Mereter : Find the interior angle of a regular hexagon.
c) feguat faan frvstes ABC 7 PQR sza g fawtesd

FHTAHUES T GSAASESH A9 «eter@ :In the given A R -
figure, AABC and APQR are congruent to each other. 60° 700 "
Write down corresponding angles and sides of . A q 50° .
triangles. ocm

7. a) feguat femar AMNO~AMPQ 3+ ats MQ=8cm, PQ=6cm T NO=12cm ¢ MO &I 919 a1
arserd :In the given figure, AMNO~AMPQ.If MQ=8cm, PQ=6cm and NO=12cm, find M
the measure of MO.



b) afz tger age@r &awa 154 a9 4.4 90 Sh aq@ akfg gar avrsderd : If the area of a circle is
154cm?, find the circumference of the circle.
c) a9l Selr aarser™ :Draw the net of cube.
8. a) fegus FHHT frsst LMIN ate x &1 /19 91 @ms+erd (From the given right angled ALMN, L
find the value of x.

12cm

b) 3= 10m ¥ srd=ame 14m FUHI FAATHR TATSHAT H(q ez 9+ werss ‘The height and
radius of a cylindrical tank are 10m and 14m respectively. How much liter of water M
does it contain?

c) ats M={a,b,c,d} 7 N={c,d,e,f} st M U Nu=t svmee= : If M={a, b, ¢, d} and N={c, d, e, f},
find M U N.

9. a) 216 @ fzamaR Fg@T™r 9ivadd e : Convert 216 into binary number.
b) #fa sg@®r 80% « 640 & ‘What is the number whose 80% is 6407
c) feguar srfweTs Afegs Jar @msde : Find the median of the following data.
19,8,11,7,6,17,12,9,10
10. a) @usrew THEE Factorize: 2x%+9x+10
b) Tz= = Simplify: (x) 97 (x) "P (x) P9

c) W e cEvaluate: (27)§><(64)2x 2‘%(@)2

=5

. X
11. a) &« 7= : Solve:
X+3

b) wg@= waf==ar T@sae ™ : Show in a number line: 3x+4> 13

IHE -7 (Group -C) [14X 4=56]

12. qetesa! 919 5cm AUH Hafaa aeastea @A e Construct a regular pentagon with the side of
5cm.

13. qwaTg STt T FIEE SRTER g AW TARTERT TRET0 THER (FReF B AT geadl faaes dfard o )
Experimentally verify that all angles of an equilateral triangle are equal. (Two figures of
different measure are required.)

14. sfrifa=zs A(2,0),B(3,4) T C(1,1) wuat AABC =1¢ 3ava famgan afvafy +900 & afahwor mwrgar o=
giatavae ofrifagess! fMEeme® oar @wms w@teaaar s@rsde Find the coordinates of the vertices of
the image of AABC with vertex at A(2,0), B(3,4) and C(1,1) after rotation through +90° about
the origin and draw both figure on the same graph.

15.46 ST fa=mdl qu$r F&mr 25 S FRger gF 7 9?1, 30 S [Fgaredr ¥R §9 TR T 6 S g9
IS IF AT WA 99 AGATE AT 3@Ig 7 IS T AT ISP el qar aseE :In a class of
46 students, 25 like to visit Kankebihar, 30 like to visit Siddhapaila and 6 didn’t like to visit
both places. Show it in a Venn-diagram and find the number of students who like to visit
both places.

16.U3aT FISTHT AFTE AGHT IATZH AR O T ATSIg IATIHN AR G JAT I FISHT d1da+ 512cm? g a9
ISP FITE, ATeTg T A% TaT Ss1er™ : The length of a room is four times the height and
breadth is twice of its height and the volume of room is 512 cm?3. Find the length, breadth

and height of room.

17. @¥a e Simplify: % — % + 21/48 — 34/8

L3cm

XCm



18. 15 St Aifeer # F 80 faar I FhgH A7 5 FAT WA I=T AT HTH BT fewH Aibwer 715 men can
do a piece of work in 80 days. How long will it take to finish that work if 5 men were added?

19. &fa T=Hr %.5000 #1 fasega 15% =arsteear .8750 7« ? How long will the sum of Rs.5000 take to
reach the amount Rs.8750 at the rate of 15% per annum?

20.tger dEEas dfgwd 9 %.12000 g Far 10% ge @3 13% VAT Siear @@l 9o qedd Hid [qqadi
?If the marked price of a mobile set is Rs.12000. If the shopkeeper allows 10% discount and
adds 13% VAT, how much will the customer pay for it?

21. a7 arfasrare aataaar g&ad T1erd :Represent the following data in pie chart.
Class 5 6 7 8 9 10
No of students | 42 54 51 48 45 30

22.aﬁp+l:3w p3+isafrm’rr?ﬂ’r5rﬂ’€ﬂ: If p+l:3, find the value of p3+i3.
p P p

23. 7.9 fa#r=E : Find the HCF of: a%-11a+10, a®+9a-10 and a*-1

1 1 1
+ +
(a-b)(a-c) (b-a)b-c) (c—a){c-b)

24, T e Simplify:

25. 7 TEE : Solve: 3x?—11x—20=0

“Best of effort”



